
Μετατροπή μήκους 

1. Συμπληρώνω τους παρακάτω πίνακες: 

Εκατοστά Χιλιοστά 

  18 εκ.  

96 εκ.   

452 εκ.   

 600 χιλ. 

 5.800 χιλ.  

 6.900 χιλ. 

 

 

2. Κάνω τις μετατροπές 

8μ.=________χιλ.                                   63μ.=______________δεκ.  

260εκ.=__________ δεκ.                 780 δεκ.=_____________μ. 

78 δεκ.=__________χιλ.                         450 μ=________________ εκ. 

4.000 χιλ.=_________εκ.                7.800 εκ.=_____________μ. 

 

Μέτρα Εκατοστά 

 5 μ.   

9 μ.   

14 μ.   

 300 εκ. 

 7.100 εκ. 

 4.500 εκ.  

Δέκατα Εκατοστά 

  63 δεκ.   

45 δεκ.   

524 δεκ.   

 700 εκ. 

 8.500 εκ. 

 2.300 εκ.  

Θυμήσου: 

1) Ανεβαίνω ή 

Κατεβαίνω; 

2) Πόσα σκαλιά; 


